| Efficiency vs Dxy |
0.5
<

5 S
L | s S S
< A T T
o e e
ko) A T T
e e S A
T T e e
028 b
02f
O

effi

T e o

Q08
o+ | Lo

Rati
=
! T 1T 1T 1 TTTT

09 56-16-10 =5 0 5 10 15 20 25

TP dxy (cm)

—=— DQM_V0001_R000000001__Global__mkFitOLD__RECO
| Efficiency vs Dz | —e— DQM_V0001_R0O00000001__Global__mkFit100__RECO

02 —«— DQM_V0001_R000000001__Global _mkFit100tobtec_ RECO
N . N T N T
N ; ;

A8t
N ; : : ; :
GG
[&] - . . N N N
.14 N P rorneree AR I
o : : : : :
) S {EATRE S S SO S
S 1 R S 3

é Het'om, il

0.04f- Aol oo e | BUSEE

530 =2 i j 0 20 30
TP dz (cm)



	Contents
	Page 1


